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, PARTA — (2% 12= 24 marks)

Answer TWO of the following in about 500 words each.
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1. _Explam the scope and uses of J unsprudence - S
L cAuellér SiaTTa s mp)gmn LWL DL eflarsEs.

2. Explain Austin’s theory of Soverelgnty.
evigefer Genpurareno Gamium e aﬁ]errek@es.

3. The ways of control of Delegated Legislation in India — Explain.
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PART B — (2 X 7 = 14 marks)

" Answer TWO of the followmg in about 300 words each.
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4,  State the various clas’siﬁcation of Rights.

2 Mewsaller uaCap uamssmars fmpis.

5. Explain the various kinds of ownership.
QenggMenwuiien LdGaug aiemssmer ellarésab.

6.  State the merits and‘demeritsAof legal justice and natural justice.
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PART C — (5 x 4 = 20 marks)

Write sﬁor_t notes on FIVE of the following :
Gemeupeuenaippier BEADES Ap GHULSET aTPES.
(a) Law and Society
FLL(PL FAPSTWAPLD
(b) .Spes successionis
aHiCpréE GnhiGhew
(¢) Labour Law
. Qgmfleorerit #L_L_1b
(d) Essentials of valid custom
Qsovas 5@Hs ussESDE Slig UL WITETg) -
(e) Forms of subordinate legislation ‘
 gleoverr s FSHlem cuigeud

_(® Literal interpretation

- @osser WL Gepr cHig
(g0 Testamentary succession
c2.ufe anfl aunrflafento

PART D — (2'>_< 6 = 12 marks)’

Answer TWO of the following by referring to relevant p;:ovisions of law and
decided cases. Give cogent reasons.

GemeupeuaeudmIeT @Teiia HE FLL auESWIRIEET WHPILD ﬁmfarraﬂtésa;UuLj_l_
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A agrées.to build a house for B for a lump payment to _bg paid on the
completion of the construction. If he commits default after doing part of the ‘
work, what would be his position? '

‘@ eraTUaT ‘WEG @@ SO s Gaspgl W AFT@SUD SLEWIEND (pigud
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‘A’ lends a watch to ‘B’ and then asks him to keep it as a present. Who is in
possession of it?

‘@’ eremueuT ‘Q,’S@ (UTLLE) P&&IGEMTLD  &HL6iT Qasrh&dprr. g G

- (per@arerLwrs)  Serueflitiurs mw;g&@snaﬁmé Fag&pmi. | DESKRSTILD

wrhenLw 2L enwulle) o arerg) ?

‘X’ keeps a lion in his house. On one day the lion got escaped f.rom the owner X
and caused injury to his neighbour Y’. Will ‘X’ be liable for this act?
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